Mo rong da thue

(6x — 6)(6x% — 4x + 3) + (x + 3)(6x + 2)

(4x* +x—1)(5x— 4)+4 x 2x+ 4

(4x—2)(x+4)(3x+ 6)

(4x* — 2)(5x +4) + 4% —4x + 5

(3x® +x— 1)(Bx—3)+5 % 6x— 3

Ngay thang: Diém:

x— (4—x)(3x— 3)(6x+ 6)

(x+3)@x+1)5x+ 6)

(x— 4 +x+ 5)+ (2x + 4)(4x + 6)

(4x° — 5x — 3)(dx— 6) + 6 x 6x + 2

(6x — 6)(x — 6)(x — 6)
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Mo rong da thue

Tén: Ngay thang: Piém:
(6x — 6)(6)(2 —4x+ 3)+ (x + 3)(6x + 2) x— (4—x)(3x— 3)(6x+ 6)
36x° — 54x% + 62x— 12 18x° — 72 — 17x+ 72
(4> +x—1)(5x—4)+4 x2x+ 4 (x+ 3)(4x + 1)(5x + 6)
205 — 12 —x+8 20x° + 89x + 93x + 18
(4x — 2)(x+4)(3x + 6) (x— 4)(x2 +x+5)+(2x +4)(4x+ 6)
12x° + 66x° + 60x — 48 ¥+ 52 +29+ 4
(42— 2)(5x+4) + 4% —4x + 5 (4% — 5x—3)(4x— 6) + 6 x 6x + 2
205> + 20x% — 14x— 3 16x° — 44x* + 54x+ 20
G2 +x—1DBx—3)+5x6x—3 (6x— 6)(x — 6)(x — 6)
0 — 632 + 24x 6x° — 78x% + 288x — 216
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